MERCRUISER (5.7L COMPETITIOM SKI [GEM+] GM 250°-3 1338)
Serial Mbr Range: OLO02005 THRU OM316339 ()

20

< LTERMATOR [MAMDO] & BRACKETS [0L918999 & BELOW) b w
Ref |Clazs|Part Description Qt Comment Footnote
2 12 96457 '"WASHER-PHEMOLIC 1
3 13 26996 | LOCKAWASHER [#10) 1
4 11 79989 | MUT [#10-24) 1
5 13 26992 | LOCKWASHER [1/4 IM.) 1
A 11 94330 NUT [1./4-20) 1
7 B07750T |BRACE 1
a2 10 93261 |SCREW [3/8-16 % 3/4 M) 1
9 13 350438 | LOCKAWASHER [3/8 1M.) 1
10 10 29198 | SCREMW & LOCKWASHER (5/16-1 (1
11 8603707 1|BRACKET-ALTERNATOR /POWEFH 1
12 16 BE0102|STUD 3
13 10 BEVA3|SCREW [3/8-24 = 3-1/81N) 1
14 11 23161 | MUT [3/8-24) 1
15 B077E7T|IDLER ERACKET 1
16 10 98261 |SCREW [3/8-16% 3/4 M) 1
17 11 29250 NUT (5/16-24) 1
18 43 18381 2|FINION STUD 1
19 2183807 |BUSHING 2
20 B07757T |PULLEY 2
21 11 859135\ MUT (7/16-20) 2
22 8077537 1| BRACKET-IDLER 1
23 12 7729 'WASHER 3
24 11 32219/ MUT [3/8-1E) 3
25 10 16601 | SCREW [7A16-20% 1-1/21M.) 1




